

つぎの計算をしましょう。

$$(1) \quad \underline{6\text{m}82\text{cm}} - \underline{3\text{m}14\text{cm}} = 3\text{m}68\text{cm}$$

$$(2) \quad \underline{16\text{m}43\text{cm}} - \underline{8\text{m}17\text{cm}} = 8\text{m}26\text{cm}$$

$$(3) \quad \underline{27\text{m}30\text{cm}} - \underline{8\text{m}30\text{cm}} = 19\text{m}$$

$$(4) \quad \underline{13\text{m}61\text{cm}} - \underline{8\text{m}38\text{cm}} = 5\text{m}23\text{cm}$$

$$(5) \quad \underline{25\text{m}50\text{cm}} - \underline{19\text{m}70\text{cm}} = 5\text{m}80\text{cm}$$

| | m | cm |
|---|----|----|
| | 25 | 50 |
| - | 19 | 70 |
| | 5 | 80 |

$$(6) \quad \underline{32\text{m}20\text{cm}} - \underline{17\text{m}80\text{cm}} = 14\text{m}40\text{cm}$$

| | m | cm |
|---|----|----|
| | 32 | 20 |
| - | 17 | 80 |
| | 14 | 40 |

